Multiplication et Division par 10° (D)

7 x 103 =

60 x 10° =

40 x 103 =

74 =~ 103

19 +10% =

38 + 10° =

86 x 103

85 x 10°

54 =103

2x103=

Trouvez chaque produit ou quotient.

7 +103 =

56 X 103 =

74 x 10% =

63 x 10% =

14 x 103

62 % 103

36 x 10°

66 + 10% =

7% 103 =

38 +~10% =
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Multiplication et Division par 10° (D) Solutions

7 x 10°=7000

60 x 10° = 60 000

40 x 10°> =40 000

74 +10%°= 0,074

19 +10°=0,019

38 + 10°=10,038

86 x 10° =86 000

85 x 10° =85 000

54 + 103 = 0,054

2x10°=2000

Trouvez chaque produit ou quotient.

7 +10°= 0,007

56 X 10° =56 000

74 x 10° =74 000

63 x 10°* =63 000

14 x 10 =14 000

62 x 10° =62 000

36 X 10° =36 000

66 + 10° = 0,066

7 x 10%=7000

38 +10°=0,038

MathsLibres.Com




